EARAROBREBRT —5 XN—ZXBISH—F

20211898 (K) 1700&&E2H

(V8 B 34 YS>F%—H& (s | EEm - | 9 o0 B
[xE%] 15 :400,000H  23&:132,000H  33#&:80,000MH  43#%&:52,000MH  53&:36,000H
B RS FRESS /IR HE B5F (F28) FA4L (5% | BBIEML | E3F |[SIEY | AT | #AE | B FIR) / BF / S£ERS
= ., 5 K= :36. -2-2- . - BHEE (BER)
118011 HAvTFSyT g 4% 5 Yy 1(3_6)5 2-2-2-1 | 39.7 4 (4+638) E;I;ur;
RIZAZAT—RUTA BRkDTA A=\ ISy Rigis
— = REFEAR 1:37.1 8-8-8-8 [39.2| — 6 M1 | BUE—% (BaR)
2 P s Rl V5 e L 3) 1) |EHEES
RiANWTT—IN B:Za1—-I5UY R DPEEIN
N s 4 | XLEFBSE 1:37.1 3-3-3-3 [39.9| - 1 472 | HHBEF (&EE)
3 7| EVF 56.0 1) (-3 |LFABEA
R:ALYITSvIEl B:T4x—FEB7E—-I =4 55
= Ny BB, : -5-4- - BEIBE—AN (BEE)
47| g | 7RIRR—A o4 e 1.(317).3 4-5-4-6 | 40.0 2 (4+517) mé%
RiFVyVvY/FEF BTFVI-TTAN R4S
p—p—=~ BAMES 1:37.4 7-6-6-4 . - 7 23 | BUIE—A (BER)
50111 Lb—=9F50ER ) (935‘) e 9 (+4?; =)IIA—
RiFVVYY/FEF BiEa1—F«JOVR S W5
<l s 4 | HOEEES— 1:37.7 9-9-9-9 [39.7| -— 3 483 | RORK (BHE)
6l5|5|FDTY by 56.0 a1/2) (3) | MEBBERX
RiSTU—=F4 B:FI9T5VN\—hk T wis
4 6 | Y L3N 1:37.9 6-7-5-5 | 40.4| — 10 | 439 |®FPOE (BEE)
718110/ EYT 5.0 M ) |SHEx
RIAYYISvya B:EITY—FAK HBEI7—L
== o =T 1:38.1 10-10-10-10{ 39.8 | — 8 | 475 |BIB—A (BTE)
8l17|9|TTaR—A "6 S ) (+8) KEER
R:RU=LVv—=— B:LTFrIvVITUS INTT7—L
<, sy "= ~ SHEKX :38. -1-1- . - BAC (BEE)
9 2 7Ia1TIY o4 %0 1(13/82)2 24 ° (5_1;) EE%W
R:OV1IZI7—R B:IAVAIVI L BN TS
. =, 1 HiEEE— 138. -4-7- . - Bt (BEE)
1B 3| /—TWFAS YR "D BRI I e P D s
R:STU—F« #B:FUIVUAH BHs
4 7 | RESE - - - - - 454 | BOXK (BEE)
. - i 56.0 o) (1) | FlBm
RFIRATFIIN B:7TTRYT Bl @
@ 1—F—&RIEL
13—7— 2,11,7,8,3,10,1,4,5,9
20— — 2,11,7,3,8,1,10,4,5,9
33— — 2,11,7,8,10,1,3,4,5,9
43—F— 11,2,7,1,10,8,3,4,5,9
0 ILRE
BB 1 1,140 JA R 4-1 2,950 e B 4-8 8,650/ 3EE 4-7-11 11,170
B B 1 1909 711 7004 5 E 4-1 16,8604 3EH 11-4-7 109,970M
4 340 4-7 1,100/ B8 11-4 38,5004
7 140M4

ABIC OV TRUTEREERRODDZE. THRIIZEL.




